Kibyu 3a Tect Al.2 — Enrieckn je3uk, 2019.

| READING COMREHENSION Yxynno 15 6ogoBa

1 Complete the conversations. Circle A, B or C for each question.
1A 2A 3C 4B 5A (5 6om0Ba)

2 Read the text and choose the correct phrase for each space. 0 is an example.
1Dd (2g. b @) B)Ff (B)e. (7)h B)i. 9k (10)c. (10 6onoBa)
I LISTENING COMREHENSION Ykynno 15 6ox0Ba

[Ipe cnymama TekcTa yueHUIIM UMajy 10 JIBa MUHYTA J1a c€ yIIO3Hajy ca MUTamkuMa Koja ce
0JIHOCE Ha TEKCT U UMajy MPaBO Jia UX MpaTe U 00esexanajy 0JroBope TOKOM CIIyIIama.
VYyenunu ciymajy TekcT aBa nyta. [lay3a usmely npa untama uznocu 30 CeKyHIH.

Tpanckpunr ayamo 3anuca

Tom: | don't know what to do. | start off studying but I always end up doing something else.
Mum: I’ll help you but please listen to me.

Tom: Of course! Go on!

Mum: Now first, you need to take away all of the things that stop you working.

Tom: What do you mean?

Mum: First, turn off your music. Music doesn’t help you study.

Tom: OK. No music.

Mum: And put the dog outside!

Tom: What?

Mum: Well, every time the dog goes into your room, you stop studying to pat it. Spot stops
you working!

Tom: OK. Bye, Spot!

Mum: Have an apple and a glass of water on your desk before you start. Here you are.
Tom: Why?

Mum: Because then you don’t need to go to the kitchen for something to eat or drink.
Tom: OK.

Mum: Turn off your phone.

Tom: No way!

Mum: Yes. It stops you working. If you turn it off, it’s easier to concentrate. You can read
your messages later.

Tom: OK, but I can’t turn off the internet on my computer. I need it to look up information.
Mum: OK, but you can turn off your instant messages.

Tom: | know! Mum?

Mum: Yes?

Tom: Thanks.

1 Write a number (1-6) to put Tom’s responses to his mum’s tips in the order you hear
them.

(6 6010Ba)

5 No way!



~ 3 OK. No music.
_4 OK. Bye Spot.

_ 2 What do you mean?
6| know! Mum?

_ 1 Ofcourse! Go on.

2 Circle True or False for these sentences.

1 True 2 True 3 False 4 True 5 False 6 True
7 True 8 True 9 False
(9 6o10Ba)
Il WRITING Ykynno 20 6on0Ba

YV seorcou nucane npodykyuje Bpennyjy ce cieneha nmocrurayha:

a ) IOLITOBakE HAJIOTA: HAMMCAHU TEKCT j€ Y CKJIaly ca CUTyallljoM Koja je 3aJaTra TEMOM U
oarosapajyhe je gyxuHe (momrtyje ce npeasuheHn Opoj peun). YUeHUK KOPUCTH yoOuuajeHe
bopme mo3/passbarba Ha MOYETKY U Ha Kpajy mucma (MakcumyMm 3 6oaa);

0)_KOXEPEHTHOCT, CUTyallMOHA U CaJAPKUHCKA IPUMEPEHOCT: HAITMCAHU TEKCT YUHU JIOTUUKY U
CMHCIIEHY LIEJIMHY, OJroBapa Ha 3a/JaTy TEMy M YYEHUK KOPHUCTH oAroBapajyhu je3nyku
peructap (Makcumym 6 6o10Ba);

B) JEKCHKA: KOPUCTH aJeKBaTaH (OHJ pedyd KOju My oMoryhaBa Ja ce MMCMEHO H3paxkaBa O
1atoj TeMu (MakcuMyM 6 6010Ba);

I) 'paMaTuykKa MPEIU3HOCT: CacTaB/ba Pa3syMJbHMBY M I'pPaMaTUUKH HCIPaBHY PEUCHUILY U
MPaBUIIHO KOPUCTH jeIHOCTABHE I'paMaTHYKe CTPYKType (MakCUMyM 5 6o10Ba).




